Zill Differential Equations 9e Chapter 15 Form A
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16.
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18.

. Classify the heat equation as either hyperbolic, parabolic, or elliptic.
. Classify the wave equation as either hyperbolic, parabolic, or elliptic.

. Write down the central difference approximation of % for a function u(z,y) using a

step size of h.

. Write down the five-point approximation of the Laplacian for a function u(z,y) using

a step size of h.

. Define the term mesh point.

. When the finite difference method is applied to the problem % + giyg =0, u(0,y) =0,

u(2,y) = sin(ny/2), u(x,0) = 0, u(x,2) = sin(7wx/2), with n = 2, h = 1, what are the
values of the unknown function u at the boundary mesh points?

In the previous problem, what are the equations to solve for the solution at the interior
mesh points?

Solve the system of equations in the previous problem for wu(1,1).

. What is the difference between an explicit method and an implicit method?

Consider the heat equation for the temperature, u(x,t), in a rod, c% = %, u(0,t) =
0,u(1,t) =0, u(z,0) = f(z). Using u(z,t) = u;j, the central difference approximation
of %, and the forward difference approximation of %, and using h = 1/n and
k = T/m for certain integers n and m and an ending time value 7', write down the
resulting difference equations for the approximation of the problem.

In the previous problem, if f(x) = sin(7z), solve for u(x;,1) if c=1,T =5, m = 5,
and n = 4.

In the previous problem, continue to solve for u(zx;,2)
In the previous problem, discuss the issue of stability.

For the previous four problems, write down the Crank—Nicholson method for solving
the problem.

Does the Crank—Nicholson method have the same stability problems as the regular
finite difference method for solving the heat equation?

For a function u(x,y) and step size h, write down the finite difference approximation

u
for o7 -

. . . . . . 2 2
Write down the finite difference approximation for the wave equation, ¢?2-% = %

Ox2
with an x step size of h and a t step size of k.

In the previous problem, assume that the boundary and initial conditions are u(0,t) =
0, u(1,t) = 0, u(x,0) = sin(mzx), ut(x,0) = 0. Also assume that ¢ = 1, h = 0.25, and
k = 0.5. The equations for u;; involve w; —1. Explain how you would find those
values.
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19. In the previous two problems, solve the system of equations for u at the mesh points
along the line where ¢t = 0.5.

20. In the previous three problems, solve the system of equations for v at the mesh points
along the line where ¢t = 1.0.
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parabolic

hyperbolic

. % ~ (u(x + h,y) — 2u(z,y) + u(x — h,y))/h?
- V2 (u(z + hy) +ulz,y +h) +u(z—hy) +u(z,y —h) —du(z,y))/h?

. When a region is split into subregions by a set of vertical and horizontal lines, the

mesh points are the intersection points of those lines, usually where an approximation
is needed for a function.

. u=0at (0,0), (1,0), (2,0), (0,1), (0,2), and (2,2), and u =1 at (2,1) and at (1,2)

w(2,1) + u(1,2) + u(0,1) + u(1,0) — 4u(1,1) = 0

Cu(1,1) =1/2

. In an explicit method, the formula can be solved for the unknown function values in

terms of known values. In an implicit method, the formulas each involve more than
one unknown function value and must be solved by some other method.

Ui j+1 = )\ui+1,j + (1 — 2)\)uij + )\ui_l,j, where A\ = Ck‘/h2
up1 = 16—31v/2/2 = —5.920, ug; = 161/2—31 = —8.373, u3; = 16—31v/2/2 = —5.920

u1y = —992 + 14731/2/2 = 49.568, ugy = 1473 — 992v/2 = 70.100, uzz = —992 +
1473+/2/2 = 49.568

The method is unstable since A = 16 > 1/2.

Ui 1,1+ U 1~ Ui i1 = Uit j— B g ui1 g, where A = ck/h?, a = 2(1+1/N),

B=2(1-1/))

No, it is stable.

54~ (u(w,y + h) — 2u(z,y) + u(e,y — h))/h?

Wi jp1 = N1+ 2(1 = MN)wgj + N1 j — ui j—1, where A = ck/h

Use a central difference approximation for % (,0) =0~ (u;,1 —u;—1)/(2k), and solve

for Ui, —1 = U4,1-
upp =2 — 3v/2/2 = —0.121, ug; = 2v/2 — 3 = —0.172, uz; = 2 — 3v/2/2 = —0.121
U2 = 33v/2/2—24 = —0.665, uge = 33—24v/2 = —0.941, uzp = 33v/2/2—24 = —0.665
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. Classify the wave equation as either hyperbolic, parabolic, or elliptic.
Classify Laplace’s equation as either hyperbolic, parabolic, or elliptic.

Write down the central difference approximation of giyé‘ using a step size of h for a
function u(zx,y).

Write down the Dirichlet problem for Laplace’s equation on a rectangle.

Write down the five-point approximation of Laplace’s equation at an interior point
using the u;; notation.

Write down the system of equations that result when the finite difference method is
. 2 2 .

applied to the problem % + g—yg =0, u(0,y) =0, u(2,y) = sin(ny/2), u(z,0) =0,

u(zx,2) = sin(7rx/2), with n = 4.

Consider the heat equation for the temperature, u(x,t), in a rod, c% = %, u(0,t) =
ug, u(l,t) = w1, u(x,0) = f(z). Using u(x,t) = u;j, the central difference approx-
imation of % with h = 1/n, and the forward difference approximation of % with
k = T/m, for certain integers n and m and an ending time value 7', write down the

resulting equation for the approximation of the problem.

In the previous problem, if ug = 0, uy = 2, and f(x) = 2z, solve for u(x;,1) if ¢ =1,
T =5 m=25,and n =4.

For the values of ¢, h, and k in the previous problem, will the numerical scheme be
stable? Explain.

For the previous three problems, write down the Crank—Nicholson method for solving
the problem.

In the previous problem, solve the Crank—Nicholson equations for the values of u at
the first time step.

In the previous problem, continue to solve the Crank—Nicholson equations for the
values of u at the next time step.

Discuss stability for the Crank—Nicholson method of solving the heat equation.

Write down the finite difference approximation for % for a function u(x,t) with a
step size of k.
Write down the finite difference approximation for the wave equation, 02% = %

with an x step size of h and a t step size of £ Use the u;; notation.

In the previous problem, assume that the boundary and initial conditions are u(0,t) =

x if 0<a<1/2
11—z if 1/2<zx<1
c=1, h=0.25, and k£ = 0.5. The equations for u;; involve u; _1. Explain how you
would find those values.

0, u(1,t) =0, u(z,0) = }, ut(x,0) = 0. Also assume that

In the previous two problems, solve the system of equations for u at the mesh points
along the line where ¢t = 0.5.
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18. In the previous three problems, solve the system of equations for u at the mesh points
along the line where ¢t = 1.0.

19. In the previous four problems, calculate A and discuss whether the calculation is
stable?

20. In the previous five problems, if ¢ = 1 and A = 0.25, what is the least upper bound
for k£ that would guarantee stability of the numerical scheme?
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% ~ (u(gj7 Y+ h) — 2u(x, y) + U(!Ty Yy— h))/h2

2 2
G+ 58 =0, u(a,y) = fiy), ulby) = foly), u(z,c) = gi(x), u(z,d) = ga()
Uit1,j + i1 + i1+ i1 — duz; =0

U2 + w91 — 4uqqp = 0, uog + uzr + urr — 4uor = 0, uge + u9y + \/5/2 — 4uz; = 0,
w1z +ug2 +u1y —4uie = 0, ugz +u12+uge +us1 —4use = 0, uggz+uge +1+wuzr —4uzs =0,
\/5/24‘11&3 4+ w12 — 4u1z = 0, 1 4+ uq3 + uzg + use — 4usg = 0, \/5/2+U23 + \/§/Q+
ugz — 4uzz =0

Us j+1 = )\(ui+1’j — QUZ']' + UZ;L]') + Usgj where \ = Ck/h2
Ul = 1/2, U221 = 1, uszy = 3/2
No, A =16 > 1/2.

—Ui—1,j+1FOUG j+1— Uit 1 j+1 = ui+17j—ﬁuij+ui_17j, where \ = Ck‘/hQ, a = 2(1+1/)\),

B=2(1-1/))

uir = 1/2, ugy =1, ugp = 3/2

ue = 1/2, uga = 1, ugy = 3/2

The Crank—Nicholson scheme is always stable.

O (u(,t+ k) — 2u(z, t) + ulz, t — k))/k?

Wi jr1 = Nuip1; +2(1 = A)wy; + ANui—1j — ui j—1 where A = ck/h

Use a central difference approximation for %(1‘, 0) =0~ (uj1 —ui—1)/(2k), and solve
for Uj,—1 = U4 1-

upp = 1/4, ugy = —1/2, ugy = 1/4

uts = —15/4, uss = 9/2, uzs = —15/4
No, A=2>1

k=1/4
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1. The wave equation is

Select the correct answer.

(a)
(b)
()

)

(d) none of the above

hyperbolic
parabolic

elliptic

2. Laplace’s equation is

Select the correct answer.

(a) hyperbolic
(

)
b)
()

)

(d) none of the above

parabolic

elliptic

3. The wave equation is

Select the correct answer.

(a) S5 +54=0
(b) SH+%4=0
(c) Ly 2u_g
(d) % G =0
(©) F2 - % =0

4. The heat equation is

Select the correct answer.

(a %—1—3272‘:0
(b) S5+ %4 =0
(c
(d

(e

&?u ou __
022 — ot =V
82u_82u_0

)

)

) S4+ 2 =0
)

) o o =
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5. The central difference approximation for % with step size h is

Select the correct answer.

(a) (u(z+h,y) = 2u(z,y) +u(z —h,y))/h
(b) (u(z +h,y) — 2u(z,y) +u(z — h,y))/h?
(c) (u(z,y+h)—2u(z,y) +ulz,y —h))/h
(d) (u(z,y +h) —2u(z,y) +ulx,y — h))/h?
(e) (u(z +h,y) —u(z —h,y))/(2h)

6. A Dirichlet problem is a partial differential equation with conditions specifying

Select the correct answer.

(a) the values of the unknown function along the boundary
(b) the values of the derivative of the unknown function along the boundary

(c¢) a linear combination of the values of the unknown function along the boundary
and the values of the derivative of the unknown function along the boundary

(d) none of the above

7. The five point approximation of the Laplacian is

Select the correct answer.

(a) [u(z+ h,y) +u(z,y+h)+ulx —h,y) +u(z,y —h) — 2u(z,y)]/h
(b) [u(x 4+ h,y) + u(z,y + h) +u(z — h,y) + u(z,y — h) — du(x,y)]/h
(¢) [u(z+ h,y) +ul(z,y+h) +ulx—h,y) +u(z,y—h) —2u(x,y)]/h?
(d) [u(z+ h,y) +u(z,y +h) +ulx — h,y) +u(z,y —h) — 4u(x,y)]/h?
(e) [u(x +h,y) —u(z,y +h) +ulz — h,y) —ule,y — h) — du(z,y)|/h?

8. Consider the problem % + giyé‘ =0, u(0,y) = 0, u(z,0) = 0, u(l,y) = sin(my),
u(x,1) = sin(7x). A finite difference approximation of the solution is desired, using the
approximation of the previous problem. Use a mesh size of h = 1/3. The conditions
satisfied by the mesh points on the boundary are

Select all that apply.

(a) u=1/2at (1,2/3) and (2/3,1)
(b) u=+/3/2 at (1,1/3) and (1/3,1)
(¢) u=0at (0,1/3) and (1/3,0)

(d) u=0at (0,2/3) and (2/3,0)

(e) u=0at (1/3,1/3) and (2/3,2/3)
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9. In the previous problem, using u;; to denote the value of u at the ¢,j point, the
equations for the values of the unknown function at the interior points are

Select all that apply.

(a) —4uiy +u2 +uip =0

(b) —dugg + ug1 +urz = —V/3
(¢) —dugs + us1 +ur2 = —V3/2
(d) —durs + urr + uge = —V3/2
(e) —duoy + ur1 + uge = —V/3/2

10. In the previous three problems, the solution at the interior points is

Select all that apply.

(a) ug2 =+/3/8
(b) uge = V/3/4
(c) up = V3/8
(d) w1z =+/3/4
(e) ug = V3/4

11. The forward difference approximation of % with step size k is

Select the correct answer.

(a) (u(z + k,t) —u(x,t))/k
(b) (w(x —k,t) —u(x,t))/k>?
(¢) (u(z,t+k)—u(x,t))/k
(d) (u(z,t —k) —u(x,t))/k
(e) (u(w,t+k)—u(x,t))/k>?

12. Consider the problem c% = %, u(0,t) = 0, u(1,t) = 2, u(z,0) = 222. Replace %
with a central difference approximation with h = 1/3 and % with a forward difference
approximation with k£ = 1/2. The resulting equation is

Select the correct answer.

(a) clu(x + h,t) + 2u(z,t) + u(z — h,t)]/h? = (u(z,t + k) — u(z,t))/k
() clu(z + h,t) + 2u(x,t) + u(x — h,t)]/h? = (u(x,t + k) +u(x,t))/k
(¢) clu(z + h,t) — 2u(x,t) +u(x — h,t)]/h? = (u(x,t + k) — u(x,t))/k
(d) clu(z + h,t) — du(x,t) + u(x — h,t)]/h? = (uw(x,t + k) +u(x,t))/k
(e) clu(z + h,t) — du(x,t) +u(x — h,t)]/h? = (u(x,t + k) — u(x,t))/k
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13. In the previous problem, using the notation w;; = u(z,t), and letting A = ck/h?, the
equation becomes

Select the correct answer.

(@) wij—1 = M1+ (1 +2XN)u; 5 + A1

(b) wij—1 = Miy1,;+ (1 =2 )u;; + Aduj—1j

) Uijy1 = Aip1,; + (1 +2N)u; 5 + A1 5

) (1 —=2XN)ui; + Auj—1j

) (

1-— )\)ui,j + )\ui_Lj

(
(d) wijyr = Auipr; +
(€) wij+1 = Aui1j+
14. In the previous two problems, let ¢ = 1. The solution for u along the line ¢t = 0.5 at
the mesh points is

Select all that apply.

(a) u31 =0

(b) w11 =20/9
(¢) u = 30/9
(d) uz1 = 26/9
() uz1 = 32/9

15. In the previous problem, is the value of A such that the scheme is stable?

Select the correct answer.

(a)
(b)
(c)

)

(d) It cannot be determined from the available data.

yes
o)

=

It is right on the borderline.

. 0 Pu B [ oz if 0<z<1/2
16. Consider the problem ¢* 33 = 8t2, u(0,t) =0, u(1,t) =0, u(a:,O)—{ Iz if 12<z<l1 [

ut(x,0) = g(x). Replace —15 with a central difference approximation with h = 1/3
and % with a central difference approximation with & = 1/2. The resulting equation
is

Select the correct answer.

(a) Au(x + h,t) — 2u(z,t) +u(z — h,t)]/h? = (u(z,t + k) — u(z,t))/k?

(b) Alu(z + h,t) — 2u(x,t) + u(x — h,t)]/h? = (u(x,t + k) +u(x,t))/k

(¢) Alu(z + h,t) — 2u(z,t) +u(x — h,t)]/h? = (u(x,t + k) —u(x,t))/k

(d) Alu(x+ h,t) —2u(z,t) +u(x — h,t)]/h? = (u(x,t + k) —u(z,t) +ulx, t —k))/k?
(e) Alu(x+h,t)—2u(x,t) +u(x —h,t)]/h?* = (u(z, t+ k) —2u(z,t) +u(z,t —k))/k>
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17. In the previous problem, using the notation u;; = u(x,t), and letting A = ck/h, the
equation becomes

Select the correct answer.

() wij1 = Nuip1j + 2(1 4+ XN)uij + Nui1j +uij1
(b) wij—1 = Aig1j + 2(1 — Nugj + Auj—15 + i j—1
(€) wij1 = Nuir1; + 21+ N)uij + N1 — uij1
(d)

)

(€) wijr1 = Muig1,j+ (1 — Nugj + Aduj—1j — ui j—1

Uit = Nuir1g +2(1 = N)ugj + Nuiorj — uigo

18. In the previous two problems, the values u; ;1 depend on the values u; —1. How do you
calculate those values?

Select the correct answer.

(a) Use a forward difference approximation in ¢ along the line ¢t = 0.

(b) Use a backward difference approximation in ¢ along the line ¢ = 0.

(c) Use a central difference approximation in ¢ along the line ¢ = 0.

(d) Use a forward difference approximation in x along the line ¢ = 0.
)

(e) Use a backward difference approximation in x along the line ¢ = 0.

19. In the previous three problems, if g(z) = 0, then the values of u; 1 are

Select the correct answer.

(a) wi—1 =uin

(b) uj—1 =0

(c) uj—1 =1

(d) uj,—1 =-1

(e) none of the above

20. In the four previous problems, let ¢ = 1. The calculated values of u; ; are

Select the correct answer.

(a) uyp = —13/24,u9; = —13/24
(b) wp = —17/24,us; = —17/24
(¢) unn =—1/2,u9 = —1/2
(d) uig = —1/24,u9y = —1/24

)

(e Uil = —1/4,u21 = —1/4
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1. a

2. ¢

8. b,c,d
9. a,b,d, e
10. ¢, d, e
11. ¢

12. ¢

13. d
14. b, d
15. b
16. e
17. d
18. ¢
19. a
20. d
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1. The heat equation is

Select the correct answer.

(a) hyperbolic
(b) parabolic
()

)

(d) none of the above

elliptic

2. Laplace’s equation is

Select the correct answer.

(a) hyperbolic
(b) parabolic
()

)

(d) none of the above

elliptic

3. The wave equation is

Select the correct answer.

2 2

(a) S5+ 54=0
92 92

(b) 52 — 52 =0
Py 9

(c) a—ﬁ—a—z
2

(@) 5%+ 5 =0
0 0

() 32— 35 =0

4. Laplace’s equation is

Select the correct answer.

(a) L4+ 54 =0
() 5 = 58
x Y
(c) Tu 4 du—y
2
(d) FE-%=0
2 2
© G- =0
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5. The central difference approximation for % with step size h is

Select the correct answer.

(a) (u(z+h,y) = 2u(z,y) +u(z —h,y))/h
(b) (u(z + h,y) — 2u(z,y) +u(z — h,y))/h?
(c) (u(z,y+h)—2u(z,y) +ulz,y —h))/h
(d) (u(z,y +h) —2u(z,y) +ulx,y — h))/h?
(e) (u(x +h,y) —u(z—h,y))/(2h)

6. A Dirichlet problem is a partial differential equation with conditions specifying

Select the correct answer.

(a) a linear combination of the values of the unknown function along the boundary
and the values of the derivative of the unknown function along the boundary

(b) the values of the unknown function along the boundary
(c) the values of the derivative of the unknown function along the boundary

(d) none of the above

7. The five-point approximation of the Laplacian is

Select the correct answer.

(a) [u(z+ h,y) +u(z,y+h)+ulx — h,y) +u(z,y + h) — du(z,y)]

(b) [u(x + h,y) + u(z,y + h) + u(z — h,y) + u(z,y + h) — 2u(x,y)]

(¢) [u(x+ h,y) +u(z,y+h)+ulz—hy)+ulz,y+ h) — du(z,y)]/h
(d) [u(z+ h,y) +u(z,y +h) +ulx — h,y) +u(z,y+h) — 4u(x,y)]/h?
(e) [u(x +h,y) +u(z,y +h) +ulz — hy) +ule,y + h) - 2u(z,y)|/h?

8. Consider the problem % + giyé‘ =0, u(0,y) = 0, u(x,0) = 0, u(l,y) = y — y?,
u(x,1) = x —2%. A finite difference approximation of the solution is desired, using the
approximation of the previous problem. Use a mesh size of h = 1/3. The conditions
satisfied by the mesh points on the boundary are

Select all that apply.

(a) u=0at (0,1/3) and (1/3,0)

(b) w=0 at (0,2/3) and (2/3,0)

(¢c) u=0at (1/3,1/3) and (2/3,2/3)
(d) u=2/9 at (1,1/3) and (1/3,1)
(e) u=2/3 at (1,2/3) and (2/3,1)
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9. In the previous two problems, using u;; to denote the value of u at the 7, j point, the
equations for the values of the unknown function at the interior points are

Select all that apply.

(a) —4uiy + ugy +u12 =0

(b) —4ugs +uo1 + uiz = —2/9

(c) —4uiz +ur + ug2 = —2/9

(d) —4ugr + w1 + ug2 = —2/9
)

() —duge + ug1 +ujp = —4/9

10. In the previous three problems, the solution at the interior points is

Select all that apply.

(a) uz2 =1/9
(b) ug =1/6
(¢) uip =1/18
(d) ui2 =1/9
(e) ugr =1/9

11. Con51der the problem cax2 = at> u(0,t) = 0, u(2,t) = 6, u(z,0) = 32%/2. Replace
W with a central difference approximation with A = 1/2 and % with a forward

difference approximation with k& = 1/4. The resulting equation is

Select the correct answer.

(a) clu(z + h,t) — 2u(z,t) +u(z — h,t)]/h* = (u(z,t + k) —u(x,t))/k
() clu(z + h,t) — du(x,t) + u(x — h,t)]/h? = (u(x,t + k) +u(x,t))/k
(¢) clu(z + h,t) — du(x,t) +u(x — h,t)]/h? = (u(x,t + k) — u(x,t))/k
(d) clu(z + h,t) + 2u(x,t) + u(x — h,t)]/h? = (u(x,t + k) — u(x,t))/k
(e) clu(z + h,t) + 2u(x,t) + u(x — h,t)]/h? = (u(x,t + k) +u(x,t))/k

12. In the previous problem, using the notation w;; = u(z,t), and letting A = ck/h?, the
equation becomes

Select the correct answer.

() wij41 = Auip1; + (1 — Nwij + Aui—qj

(b) wijt1 = A1, + (1 — 2N uij + Auj—y,5
(¢) wij—1 = A1, + (14 2M)uij + Aujy,5
(d) wij—1 = Auit1,; + (1 = 2X\)ui; + A
(€) wijr1 = Aujtr; + (142X )uij + Aduj—q
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13. In the previous two problems, let ¢ = 1. The solution for u along the line t = 0.25 at
the mesh points is

Select all that apply.

(a) ugy =33/8
(b) u1; =9/8
(¢) up; =11/8
(d) ugr =9/4
(e) ugp =11/4

14. In the previous problem, is the value of A such that the scheme is stable?

Select the correct answer.

) yes
b)
()

)

(d) It cannot be determined from the available data.

=

O

(a
(

It is right on the borderline.

15. Consider the problem 028 4 = %, u(0,t) = 0, u(1,t) = 0, u(x,0) = sin(7x),

uy(z,0) = g(x). Replace § L 9.2 With a central difference approximation with h = 1/4

and %té‘ with a central dlfference approximation with £ = 1/3. The resulting equation
is

Select the correct answer.

(a) Alu(z + h,t) —2u(x,t) +u(x — h,t)]/h? = (u(z, t + k) —u(z,t) +u(z, t —k))/k>
(b) Alu(x+h,t) —2u(x,t) +u(x —h,t)]/h? = (u(z, t + k) — 2u(z,t) +u(z,t —k))/k>
(c) Alu(x + h,t) — 2u(z,t) +u(x — h,t)]/h? = (u(z, t + k) — u(z,t))/k>

(d) Alu(x + h,t) — 2u(x,t) +u(x — h,t)]/h? = (u(z, t + k) +u(z,t))/k

(e) Alu(x + h,t) — 2u(x,t) +u(x — h,t)]/h? = (u(z, t + k) — u(z,t))/k

16. In the previous problem, using the notation u;; = u(x,t), and letting A = ck/h, the
equation becomes
Select the correct answer.
(@) wijr1 = Nuip1j + (14 222w + Vw1 — uij—1
(0) wijp1 = Nuir1; + (1 — 220w + N1 — uij1
(€) wijp1 = Muip15 + (L — Ny + Auj_1j — ujj—1
(d) wij—1 = Nuir1; + (1420w + N2uim1j + uij1
(€) wij—1=My1;+ (1 =2 )ui; + A1 j + i j—1
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17. In the previous two problems, the values ;1 depend on the values u; 1. How do you
calculate those values?

Select the correct answer.

(a) Use a central difference approximation in ¢ along the line ¢t = 0.

(b) Use a forward difference approximation in ¢ along the line ¢t = 0.

(¢) Use a backward difference approximation in ¢ along the line ¢ = 0.

(d) Use a forward difference approximation in x along the line ¢ = 0.
)

(e) Use a backward difference approximation in x along the line ¢ = 0.

18. In the previous three problems, the values of u; _; are

Select the correct answer.

g

i—1 = U1 + kg(z;)

g

i—1 = U1 — 2kg(z;)

19. In the four previous problems, let ¢ = 1. The calculated values of u; 1 are

Select all that apply.

(a) u1; = (16 — 7v/2 + 6g(1/4))/18
(b) uo1 = (82 — 7 +3g(1/2))/9

(8V2+ 7+ 3g(1/2))/9
( (8 = 7v2/2 +39(3/4))
( )

8+ 7v2/2 + 3g(3/4

(c
d

(e usy =

/9
/9

20. In the previous five problems, is the value of A such that the numerical scheme is
stable?

usy =

)
)
) U21
)
)

Select the correct answer.



ANSWER KEY
Zill Differential Equations 9e¢ Chapter 15 Form D

1. b

2. ¢

8. a, b, d
9. a,c,d, e
10. b, ¢, d, e
11. a

12. b

13. a, b, d
14. b
15. b
16. b
17. a

18. e

19. a, b, d
20. b
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1. The wave equation is

Select all that apply.

(a
(b

) elliptic

)
(c¢) hyperbolic

)

)

parabolic

(d) linear

(e) nonlinear

2. The heat equation is
Select all that apply.

elliptic

(a
(b

)

) parabolic
¢) hyperbolic
)

)

(
(d

(e) nonlinear

linear

3. Write down the system of equations that result when the finite difference method is
. 2 2 .
applied to the problem % + g—;j =0, u(0,y) = 0, u(2,y) = sin(wy/2), u(z,0) = 0,
u(z,2) = sin(rz/2), with n = 3.

4. In the previous problem, solve the system exactly.

5. Use the Gauss—Seidel method to solve the system of equations from the previous two
problems, using guesses of u11 = 0.2, u1o = 0.4, ug1 = 0.4, ug» = 0.6. Show one
iteration.

6. In the previous problem, show another iteration.

7. In the previous three problems, does it appear that the iteration values are converging
on the exact value? What are the errors after two iterations?

8. Consider the heat equation c% = %. In order to use the finite difference method,
the appropriate approximation for % isa

Select the correct answer.

forward difference approximation

(a)
(b)
()

)

(d) none of the above

backward difference approximation

central difference approximation
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9. In the previous problem, the appropriate approximation for % is a

Select the correct answer.

forward difference approximation

)
b)
()

)

(d) none of the above

(a
(b) backward difference approximation

central difference approximation

10. In the previous two problems, after the appropriate approximations are applied, the
new equations become (using the u;; notation)

Select the correct answer.
( 1 — 2X\)ui; + Auj—q 5, where A = ck/h
(b Us j+1 = )\ui+1 J 1—-2X\ Ujj + )\’LLZ',L]', where \ = Ch/k?

a) Uij+1 = Miy1,5 + ( )
) +( )

) i1 = Mit1,; + (1 +2XN)uij + Aui—1 5, where A = ch?/k
) +( )
) +( )

(
(d Ui j+1 = AUy R 1+2\ U5 + )\Ui—l,ja where \ = Ck‘/h2

(e Ui j+1 = AUy R 1-—2\ U5 + )\ui_Lj, where \ = Ck‘/h2

11. In the previous three problems, assume that the boundary and initial conditions are
u(0,t) = 2, u(1,t) = 5, u(z,0) = 2+ 322, and that ¢ = 1, h = .25, k = .5. The
equations for w;; are

Select all that apply.

Ul = 8’LL270 - 15’LL10 + 8’LL00

(a
(

)
b) uil = 2’LL270 — 3U10 + 2u00
(C) ug1 = 8’LL370 — 15’LL20 + 8’LL10
(d) ug1 = 2’LL370 - 3U20 + 2u10

(e) uzl = 8U470 - 15U30 + 8u20

(f) uslr = QU470 - BU30 + 2u20

12. In the previous four problems, the solutions for w1, uo9, u33 are

Select the correct answer.

(a) w1y = 5.1875
(b) w1y = 5.75
(¢) ug = 5.1875
(d) ugy = 5.75
(e) usy = 6.0245
(f) uz = 6.6875
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13. In the previous five problems, the value of k needs to be changed. The value of k£ that
will make the finite difference scheme stable is

Select the correct answer.

(a)
(b)
(c)
(d)

)

d
(e

14. Write down the Crank-Nicholson scheme for solving the heat equation. Use the u; ;
notation.

> o o™ =
I

1.0
0.5
0.2
0.1
0.0

15. For which values of A = ck/h is the Crank-Nicholson method stable?

16. Write down the wave equation problem for the deflections u(x,t) of a vibrating string,
tightly stretched between x = 0 and z = 1, with initial position u(z,0) = z — 2 and
initial velocity zero.

17. In the previous problem, write down the equations derived when central differences
are used to replace the partial derivatives. Use step sizes of h in the z direction and
k in the y direction, use the u;; notation, and let A = ck/h.

18. In the previous two problems, the equation for u; involves u; 1. Explain how to
determine those values.

19. Using ¢ =1, h = .25, k = .25, what are the solutions for u;  in the previous problem.

20. In the previous problem, is the method stable? Explain.



ANSWER KEY
Zill Differential Equations 9e¢ Chapter 15 Form E

1. ¢, d
2. b,d

3. u21 + U2 — 4U11 = O,UQQ + \/5/2 + Uil — 4U12 = 07 \/3/2 + ug9 + Ul — 4u21 =
0,v/3 + w1 + ug — dugg =0

4. upp = V3/8, u1a = V3/4, us1 = V/3/4, uze = 3v/3/8
5. upy = 0.2, ugs = 0.415, ugy = 0.415, uge = 0.641

6. u; = 0.208, w12 = 0.429, us; = 0.429, uge = 0.648
7. Yes, the errors are 0.009, 0.004, 0.004, 0.002

8. ¢

10. e
11. a, c, e
12. a, d, f
13. e

14. —Ui—1j+1 T QUi j+1 — Uil j+1 = Uil — ﬁuij + Ui-1,5, where o = 2(1 + 1/)\),5 =
2(1 — 1/A\), A = ck/h?

15. The Crank—Nicholson method is always stable.
16. 02% = %, u(0,t) =0, u(1,t) =0, u(z,0) = — 22, us(x,0) =0
17, w1 = )\2ui+1,j +2(1 - )\Z)Uij + )\QUZ‘_LJ' — Ujj—1

18. Use a central difference approximation for %(1‘, 0) =0~ (u(z, k) —u(z,—k))/(2k) to
find Uj,—1 = Ug1-

19. Ul = 1/8, ug1 = 3/16, usr = 1/8

20. It is stable. A = 1, which is right on the edge of the stability region.
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1. The forward difference approximation of f’(x) with step size h is

Select the correct answer.

(a) f'(z) ~ (f(z+h) = f(z —h))/(2h)

(b) f'(z) = (f(z) = f(z = h))/h

(¢) f'(x) = (f(z +h) = f(x))/h

(d) f'(z) = (f(z +h) = 2f(z) + f(x = h))/(2h)
(e) f'(z) = (f(z+h) —2f(2) + f(z — h))/h?

2. The central difference approximation of f”(x) with step size h is

Select the correct answer.

3. Replace the partial derivatives in Laplace’s equation with central differences. The
equation becomes (using the u;; notation)

Select the correct answer.

(8) Wit1,j + Uij41 — Ui—1,j — Uij—1 — dug; =0
(b) wit1j + Uijr1 — wim1,j — Uij—1 + 4ug; =0
(C) Ui4-1,5 + Uj, 541 + Uj—1,5 + Uj5—1 — 4uij =0
(d) i1+ uijen 4 w1 + i1+ 4u =0
(€) —Uig1,j+ Uij41 — Uim1,j + Uij—1 — 4duj =0

4. Consider the Dirichlet problem for Laplace’s equation with u(—1,y) =0, u(1,y) = 0,
u(x,—1) =0, u(x,1) = 1 — 22, In the previous problem, use a step size of h = 2/3 in
both directions. The equations for the unknown function values are

Select all that apply.

)

) —4dui; + w2 +ug = 8/9

) —4duig + uig + ue = —8/9
d) —4ug; + uy1 +uge =0

) —4dug; + uig + uge = 8/9

) —4dugs + uiz +ug = —8/9
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D.

6.

10.

11.

12.

13.

The exact solution of the equations of the previous problem are

Select all that apply.

(a) uip = w91 =1/18
(b) w1 = w9 =1/9
(c) w1z = uge =1/3
(d) w1 =ug =1/9
(e) uiz = uge =1/18

In the previous two problems, use the Gauss-Seidel method to find an approximate
solution of the equations using initial guesses of w13 = .05, ug; = .05, uio = .15,
u99 = .15. The values for the first iteration are

Select the correct answer.

(a) w11 = ug = .05

(b) upp = .125, ugy = .1
(¢) uip = .1, ugy = .125

(d) wpp = 321, ug = .322
)

(e U192 = .272, U992 = .303
Write down the heat equation problem for a rod of length 2 that is insulated at both

ends and has an initial temperature distribution of 4 — 2 where z is measured from
the left end.

In the previous problem, use a central difference approximation with step size h for
the second derivative and a forward difference approximation with step size k for the
first derivative. Write down the resulting equation, using the w;; notation and letting
A\ = ck/h?%.

In the previous two problems, explain how to incorporate the boundary conditions.

In the previous three problems, let h = .5 and ¢ = 1. Choose a value for k£ that will
make the finite difference scheme stable.

In the previous four problems, using the value of k that you found in the previous
problem, write down the specific equations for u; 1.

In the previous five problems, solve for u; 1.
The Crank—Nicholson method is

Select the correct answer.

(a) an explicit finite difference method
(b) an implicit finite difference method

(¢) not a finite difference method
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14.

15.

16.

17.

18.

19.

20.

The Crank—Nicholson method is

Select the correct answer.

(a) always stable

(b) stable if and only if A < .5

(c) stable if and only if A < 1

(d) stable if and only if A < 2
)

(e) unstable for all values of A

The Crank-Nicholson formula for solving the heat equation is (using the u;; notation)
Select the correct answer.
(a) Ui—1,j4+1 + QU 541 + Uit 1,j4+1 = —Uit1,j T+ ﬁuij — Ui—1,j where o« = 2(1 + 1/)\),
B=2(1-1/\), A= ck/h?
(b) Ui—1,j4+1 — QUi 41 + Uit j41 = Uil — ﬁuij + Ui—1,5 where o = 2(1 + 1/)\),
B=2(1-1/\), A =ck/h?
(€) —Ui—1j4+1 + QUi j41 — Uig1,j41 = —Uit1,j + Buij — ui—1,; where o = 2(1 4+ 1/A),
B=2(1-1/\), A= ck/h?
(d) —wi—1j41 — Qi1 — Uip1j41 = Uip1y — Buij + uim1; where o = 2(1 4 1/X),
B=2(1-1/\), X =ck/h?

(e) —Ui—1,5+1 + QU; j4+1 — U1 54+1 = Uitl,5 — ﬂui]’ + Uj—1,5 where o« = 2(1 + 1/)\),
B=2(1-1/\), A =ck/h?
Consider the wave equation problem 02% = %, u(0,t) =0, u(1,t) =0, u(x,0) =0,
ut(x,0) = g(x). Replace the partial derivatives with central differences, with h and &
being the step sizes in the x and ¢ directions, respectively. Let A = ck/h. Write down
the resulting equations, using the w;; notation.

In the previous problem, the resulting equations for u;; involve w; —1. Explain how
to find those values.

In the previous two problems, what are the resulting equations for wu; ;7

In the previous three problems, use ¢ = 1, h = .25, k = .25 and g(x) = sin(7wz). What
are the solutions for u; 17

Is the method of the previous four problems stable? Explain.



ANSWER KEY
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1.

2.

10.
11.
12.
13.
14.
15.
16.

17.

18.
19.

20.

C

a,c,d,f

a, e

9%u
Cox2

Q

1;7 u$(07t) =0, u$(2>t) =0, u(a:,O) =4—2a?

o>

Uijp1 = Aig1j + (1= 205 + Auio

Use a forward difference approximation at x = 0 to get %(O,t) =0 =~ (u(h,t) —
u(0,t))/h or upj = u1 ;. Similarly, use a backward difference approximation at z = 2
to derive u, ; = up—1;

k =1/8 (or smaller) makes A = 1/2

u11 = (ug0 + u10)/2, ug1 = (uz0 + w10)/2, uz1 = (uzo + uz0)/2
uil = 7/2, ugy = 11/4, ugy = 3/2

b

a

e

Wi jp1 = MU+ 2(1 — AN)ugs + N1 — ui 1

Use a central difference approximation at t = 0 for %(m,O) = g(x) = (u(z, k) —
u(z, —k))/(2k), so that u; 1 = u;1 — 2kg(x;).

win = A (wir1,0 +1i—1,0)/2 + (1 = Mo + kg(x;)
ury = V2/8, uz = 1/4, uz = v2/8
It is stable. A =1 is right on the edge of the stability region.
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1. The heat equation is

Select all that apply.

linear

(a
(b

)

) nonlinear
c) parabolic
)

)

(
(d
(e) elliptic

hyperbolic

2. Laplace’s equation is

Select all that apply.

(a) nonlinear

(b) linear

(¢) parabolic

(d) hyperbolic
)

(e) elliptic

3. In general, the solution of an elliptic equation depends on

Select the correct answer.

only initial conditions

(a
(b
(c

(d) other conditions

)
) only boundary conditions

) a combination of initial and boundary conditions

)

. Consider the problem of steady state temperature distribution on a rectangular metal
plate of size 1 by 2. Assume that the temperature is fixed at 10 all around the
boundary except along one of the sides of length 2, where the temperature is 20.

Write down the partial differential equation for the temperature, u(z,y), and also the
boundary conditions.

. In the previous problem, use a step size of 1/2 in both directions and find the five
point approximation of the equation.

. In the previous problem, how many interior points are there? Write down the specific
equations for solving for the temperature at those interior points.

. In the previous three problems, what is the solution for the temperature at the interior
points?

. In the previous four problems, apply the Gauss-Seidel method to solve for the tem-
perature at the interior points. Use starting values of 15 at each of the interior points,
and show one iteration.
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9. Consider the heat equation problem c% = 6t, u(0,t) = 10, u(1,t) = 20, u(x,0) =

10(1 + 2?). If a central difference approximation with step size h is used for the x
derivative and a forward difference approximation with step size k is used for the ¢
derivative, the new discretized equation becomes (using the u;; notation)

Select the correct answer.
( 1 —2X)ui; + Auy— 1],Where)\—ck/h2
(b) wijt1 = Muiy1,j — (1 —2X)uy; + Auj—1 5, where A = ck/h

a) uijr1 = Miy1j — ( )
) — ( )

) i1 = Mit1; + (1 —2X\)uij + Aui—1 j, where A = ck/h?
) +( )
) — ( )

(
d) uj i1 = A 1 —2Mu;; — A\u;_1 5, where A = ck/h
J+ +1,5 J 5]

(€) wijr1 = Miig1,j — (1 —2X)uj; — Aui—1 5, where X = ck/h?

10. In the previous problem, let ¢ = 1, h = 1/3, k = 1/10. For these values, the finite
difference scheme is

Select the correct answer.

stable
b
(c
(d

(a
(b) unstable

right on the border between the stable and unstable regions

— ~— — ~—

It cannot be determined from the given data.

11. In the previous two problems, the equations for u; ; are

Select the correct answer.

<

(a) w11 = 9ugg + .8uip — -9Yugo
(b Yuay — 8uig + -9ugo
= .9ugp + .8u1p + .Yugo
= Yuzg + -S8ugg + 9Yuig

21 = .9uzg — .8ugg + .9uqg

8
o
I

1

C) up

(
(d
(e

12. In the previous three problems, the solutions for u; ; are

S
]
|

2

~— ~— ~— ~— ~—
<
—
|

S
|

Select all that apply.
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13.

14.

15.

16.

17.

18.
19.

20.

In the previous four problems, the least upper bound for k that would ensure stability
is

Select the correct answer.

(a) 1/9
(b) 1/10
(c) 1/18
(d) 1/15
(e) 1/27

In the five previous problems, the equations in the Crank—Nicholson method are (again
using the w; ; notation)

Select the correct answer.
(&) —Wi—1j41 + QUi j+1 — Uit1,j+1 = Uit1,5 — Pugj + ui—1,j, where a = 2(1 +1/X),
B=2(14+1/\), A = ck/h?
(b) —Ui—1,44+1 T QUi j41 — Uit 41 = Uitl,j — ﬁuij + Ui—1,5, where o = 2(1 — 1/)\),
B=2(1+1/)), A=ck/h
(€) —Ui—1j4+1 + QUi j+1 — Uit1j41 = Uit1,j — PBuij + ui—1,5, where a = 2(1 + 1/A),
B=2(1-1/)), A=ck/h
(d) —wi—1,j4+1 + QUi j+1 — Uit1j41 = Uit1,j; — PBuij + ui—1,5, where a = 2(1 + 1/A),
B=2(1-1/\), X =ck/h?
(e) —Ui—1,44+1 T QUi j41 — Uit 141 = Uitl,j — ﬁuij + Ui—1,5, where o = 2(1 — 1/)\),
B=2(14+1/\), A = ck/h?
The Crank—Nicholson method is stable for

Select the correct answer.

Consider the wave equation problem aQ% = %, u(0,t) =0, u(l,t) = 0, u(z,0) =
x — 22, uy(x,0) = 0. If a central difference approximation with step size h is used for
the x derivative and a central difference approximation with step size k is used for the

t derivative, write down the finite difference approximations, using the wu;; notation.

In the previous problem, the equation for w; ; involves u; —1. Explain how these values
can be obtained.

In the previous two problems, what are the equations for u; 17

In the previous three problems, if a = 1, h = 1/4, k = 1/5 what are the solutions for
uiJ?

For the values listed in the previous problem, is the numerical scheme stable. Explain.
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1. a, c

2. b, e

3. b

4. 9%+ 58 =0, u(0,y) = 10, u(2,y) = 10, u(x,0) = 10, u(x, 1) = 20

5. Uit + Ui+l + Ui—1,5 + Ui j—1 — dui; =0

6. 3 interior points, —4ui1 +uo1 +40 = 0, w1 — 4usy +usz1 +30 = 0, usy —4uz; +40 =0
7. wi = 95/7, usy = 1007, uz; = 95/7

8. uyp = 13.75, ug; = 14.6875, uz; = 13.671875

10. b

11. b, e

12. a, e

13. ¢

14. d

15. e

16. wijr1 = ANuiv1j +2(1 — M) j + Nuj—1; — uij—1, A = ak/h

17. Use a central difference approximation for %(x, 0) =0~ (u(x, k) —u(z, —k))/(2k),
so that Ui —1 = Uj,1

18. Uil = )\2(ui+1,0 + ui_170)/2 + (1 — )\2)ui70
19. Ul = 59/400, U9l = 21/100, uszly = 59/400

20. Yes, it is stable: A =4/5 < 1.
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1. The wave equation is

Select all that apply.

a) linear

)

b)

(c) parabolic
)
)

nonlinear

(
(

(d
(e

2. Laplace’s equation is

hyperbolic
elliptic

Select all that apply.

3. In general, the solution of a hyperbolic equation depends on

Select the correct answer.

only initial conditions

(a)
(b)
()

)

(d) other conditions

only boundary conditions

a combination of initial and boundary conditions

4. Consider the problem of steady state temperature distribution on a rectangular metal
plate of size 2 by 2. Assume that the temperature is fixed at 10 along two parallel
sides and 20 along the other two sides. Write down the partial differential equation
and the boundary conditions for the temperature u(x,y).

5. In the previous problem, use a step size of 1/2 in both directions and find the five
point approximation of the equation.

6. In the previous problem, how many interior points are there? Write down the specific
equations for solving for the temperature at those interior points.

7. In the previous three problems, apply the Gauss-Seidel method to solve for the tem-
perature at the interior points. Use starting values of 15 at each of the interior points,
and show the results of one iteration.
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8. Consider the problem CaxQ = at> u(0,t) = ug, u(2,t) = uy, u(x,0) = f(x). This
problem might be a mathematical model for

Select the correct answer.

(
(b

)
)
()
)

(d) none of the above

a) vibrations of a tightly stretched string
steady-state temperature distribution in a rectangular plate

heat conduction in a rod

8u

9. In the previous problem, replace §-7 with a central difference approximation with step

size h and % with a forward difference approximation with step size k. The resulting
finite difference equations are (using the u;; notation)

Select the correct answer.

(&) ujjr1 = Auiqyj
(

b) w11 = Auiq1j

)

)

(¢) Uij+1 = Auit1j +

(d) wij+1 = Ait1,j —
)

(€) uij1 = Aujt1,; —

+ (1 + 2X\)uij + Aui—1 j, where A = ck/h?

+ (1 — 2X\)uij + Aui—1 j, where A = ck/h?
+ ;i + Au;—1.4, where A = ¢

L4+ 2M)ui; + A j» where A = ck/h
Ui + Au;—1.4, where A = ¢

1 —2Nui; + A j» where A = ck/h

(1 —2X)uij + Auj—1 5, where X = ck/h?

10. In the previous two problems, let f(z) = 1+ 2sin(7wz/2), ug = 1, u3 = 1, ¢ = 1,
h =1/2, k =1/4. The equations for u;; become

Select the correct answer.

(c
d

(e

(
(b
(

Uq,
Uq,

;1 = 2Uit1,0 —

)
)
) uz,l—uz+10+2u20+uz 1,0
)
)

a) U1 = 2Uit1,0 + 3ui o + 2ui—1,0

3uio + 2ui—10

= Uj+1,0 — Uj,0 + Ui—1,0

= Uj1+1,0 + Uj,0 + Ui—1,0

11. In the previous problem the solution for u; 1 is

Select all that apply.

)

b) ugp =3 -2
(C) U21:2\/§—1
(d) U21:5+2\/§

(e) U31:5—\/§
(f) U31:3—\/§



Zill Differential Equations 9e Chapter 15 Form H

12.

13.

14.

15.

16.

In the previous four problems, the value of A implies that the finite difference method
is

Select the correct answer.

(a) stable
(b) unstable
()

)

(d) It cannot be determined from the available data.

right on the border between the stable and unstable regions

In the previous five problems, the equations for Crank—Nicholson method are

Select the correct answer.

(8) —Uim1j41 + QUi jt1 — Uit1j+1 = Uiv1,j — Buij + ui—1j, where a = 2(1+ 1/X),
B=21-1/))

(b) wi—1j+1 — Qtijp1 + Uig1j+1 = Uit1,j — Buiy + w15, where a = 2(1 + 1/X),
B=21-1/))

(€) Wi1j+1 + QU j41 + Wit1 41 = Uit1,; + Puij + ui—1j, where o = 2(1 + 1/X),
B=2(1-1/)

(d) —wi-1j41 + 0tijpr — Uipr 41 = Uit1y — Buiy + uioyj, where a = 2(1 —1/X),

B=21+1/))
() wi—1j+1 + atijt1 + Uig1j+1 = Wip1,; — Buiy + w15, where o = 2(1 — 1/X),
B=2(1+1/\)

In the previous problem, the Crank—Nicholson method is

Select the correct answer.

stable
b

)
)
()
)

(d) It cannot be determined from the available data.

unstable

(a
(
right on the border between the stable and unstable regions

The Crank—Nicholson method for the heat equation is

Select the correct answer.

b) stableif A <1

(a) stable if A < 1/2

(b)

(¢) never stable
)
)

(d) always stable

(e) none of the above
Consider the wave equation problem % = %, u(0,t) = 0, u(l,t) = 0, u(x,0) =
sin(wz), us(z,0) = 0. Replace the partial derivatives with central difference approxi-
mations with step size h = 1/4 in the z— direction and k = 1/8 in the t— direction.
Write down the resulting equations using the u;; notation.
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17. In the previous problem, when j = 0, what values should be used for u; 1?7
18. In the previous problem, write down the resulting equations for u; 1.
19. In the previous problem, what are the solutions for u; 1?7

20. In the previous problem, is the method stable? Explain.



ANSWER KEY
Zill Differential Equations 9e Chapter 15 Form H

1. a,d

2. b, e

3. ¢

4. Zu 2273 =0, u(0,y) = 10, u(2,y) = 10, u(z,0) = 20, u(z,2) = 20

S Uig1,j + Wil + Uim1j + Uij—1 — dui; =0

6. —4duqy + uie + ugy = —30, uyyp — 4duey + uzp + uge = —20, ug; — 4dus; + usy = —30,
u11 —4ui2+uizt+uge = —10, ugr +ui2—4ugs +uza+usz = 0, uzr +uge+uzz—4uzs = —10,
u1g — 4uiz + ugz = —30, w13 — 4ugg + uzz + uze = —20, ugz — 4uzz + uzs = —30

7. Uil = 15, ug1 — 1625, uzl — 153125, U2 — 1375, ug9 — 15, uzg — 13828125,
uiz = 14.6875, U923 = 16.171875, uszs = 15

8. ¢

10. d

11. b, c, f

12. b

13. a

14. a

15. d

16. uijr1 = ANuip1j + 2(1 — A2)u;j + Nuj—1; — w4 j—1, where A = k/h
17 w1 = w41

18. w1 = A% (uig10 +ui—10)/2 + (1 = XN)u;p

19. w11 = (1+3v2)/8, ug1 = (6 ++/2)/8, uzg; = (1 +3v2)/8

20. yes, A\ =1/2<1



